
Angles in a Circle 
Relationships 

SPTA Mathematics – Topic Questions with Notes 

 

 

 



 

 

 

 

 

 

 



Exercise 1 

1. In each of the diagrams below AB is a diameter. Find the missing angles in each diagram.  

 

(a)                     (b)   (c)                                    (d) 

 

 

 

 

 

 

 

 

2. Use the symmetry properties of the circle to find the missing angles in the diagrams below. 

 In each diagram AB is a diameter. 

 

 (a)    (b)     (c) 
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Exercise 2 

1. Calculate the sizes of the angles marked a, b, . . . . .r, in the diagrams below. 

 

(a)                  (b) 

 

 

 

 

 

 

 

 

 

 (c)        (d) 

 

 
 
 

 

 

 

 

Exercise 3 

              

1.        

AC is a diameter and O is the centre                                                                  

of the circle shown opposite. CD is a tangent to the 

circle with C the point of contact. 

       If  BCD = 54o, find the size of CAB.  
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2. In the diagram triangle ABC is                                                                                                        

isosceles and BD is a diameter of the circle. 

 

Calculate the size of angle ACD.         

 

 

 

 

    

3. A and B are points on the circumference  of a circle        

centre O. BC is a tangent to the circle. 

    Angle ABC = 66o. 

    Calculate the size of angle AOB.    

 

 

 

 

 

      

4. In the diagram shown, BD is a tangent to                                                                                          

the circle centre O.  

Angle BAC = 28o.  

Calculate the size of angle CBD. 
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5. The diagram shows a circle with centre O. ST is a tangent to the circle with point                                                  

of contact Q. PQT = 56o. 

 

 Calculate the size of POQ.         

 

 

 

 

 

 

 

 

6. The line DF is a tangent to the circle centre O                                                                                         

shown below. E is the point of contact of the tangent.  

Given that angle CEF is 38˚, calculate the size                                                                                                                 

of angle EOC.             
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Answers 

Exercise 1 

1. (a) 90o  (b) 45o  (c) 90o  (d) 55o (e) 90o 

 (f) 43o  (g) 90o  (h) 18o  (i) 90o (j) 63o 

 (k) 90o  (l) 78o 

2. (a) 40o  (b) 40o  (c) 50o  (d) 33o (e) 33o 

 (f) 57o  (g) 28o  (h) 62o  (i) 62o (j) 118o 

 (k) 118o  (l) 31o  (m) 31o  (n) 31o (o) 31o 

 

Exercise 2 

1. (a) 90o  (b) 20o  (c) 110o  (d) 90o (e) 60o  

 (f) 30o   (g) 35o   (h) 35o   (k) 90o  (m) 65o  

 (n) 90o   (p) 55o  (q) 90o   (r) 45o  

 

Exercise 3 

1. 54o          2. 23o  3. 132o  

4.  28o  5. 112o         6. 76o    

 


